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QUESTION 1

Which of the following statements regarding the SMC procedure is FALSE? 

A. SMC procedure must be completed successfully before AKA procedure starts. 

B. MME sends a security mode command message to the UE. 

C. UE responds with a security mode complete message. 

D. SMC procedure is used to provide NAS signaling security between the UE and the MME. 

Correct Answer: A 

 

QUESTION 2

Which of the following statements about MME load re-balancing is TRUE? 

A. eNodeB selects an MME according to weight factors received from the MMEs in its serving pool. 

B. eNodeB selects an MME with the lowest order value in the DNS NAPTR record. 

C. MME is configured to offload some registered UEs to another MME in a different MME pool area. 

D. Affected UEs are signaled to release their S1 and RRC connections. 

Correct Answer: D 

Reference: https://community.cisco.com/t5/service-providers-documents/load-balancing-and-re-balancingof-mme-and-
offloading-process/ta-p/3140328 

 

QUESTION 3

Which of the following statements regarding SGW selection by the MME is FALSE? 

A. SGW selection can occur during initial attach, tracking area update, or handover procedures 

B. MME can select an SGW by performing a DNS query on a given TAI FQDN 

C. MME can select an SGW based on the overload control information received from each SGW in the SGW pool 

D. MME can select an SGW from the SGW pool(s) configured to serve the given TAI 

Correct Answer: C 

 

QUESTION 4

Which of the following is NOT performed by the MME during a TAU procedure? 
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A. MME sends paging messages to a list of eNodeBs. 

B. MME informs the HSS about the UE\\'s current location. 

C. MME sends the UE a new TA list containing the new TAIs. 

D. MME determines if SGW relocation is required and selects a new SGW. 

Correct Answer: D 

 

QUESTION 5

Which of the following is NOT a benefit of S1-Flex mechanism? 

A. Minimizes MME relocation in case of UE mobility 

B. Minimizes the number of MMEs required in a network 

C. Provides MME load balancing 

D. Provides MME geographical resilience 

Correct Answer: D 
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